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QUESTION 1

A Development Team is required to deliver a done Increment by the end of a Sprint. Select two statements that explain
what "Done" means. (Choose two.)

A. All work the Development Team is willing to do.

B. Ready for integration.

C. No work left from the definition of "Done".

D. Whatever the Product Owner defines as quality.

E. All work to create software that is ready to be released to end users.

Correct Answer: CE

QUESTION 2

Who can abnormally terminate a Sprint?

A. The Scrum Master

B. The Development Team or its members.
C. The Product Owner

D. The Stakeholders

Correct Answer: C

Reference: https://3back.com/scrum-tips/abnormal-termination-of-a-
sprint/#:~:text=Not%200only%20can%?20the%20Product,Scrum%20from%20the%20very%20beginning

QUESTION 3
Which statement best describes the Sprint Review?

A. Itis used to congratulate the Development Team if it did what it forecast, or to punish the Development Team if it
failed to meet its forecast.

B. It is a demo at the end of the Sprint for everyone in the organization to check on the work done.
C. It is a mechanism to control the Development Team\\'s activities during a Sprint.
D. It is when the Scrum Team and stakeholders inspect the outcome of a Sprint and figure out what to do next.

Correct Answer: D
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QUESTION 4

A Product Owner wants advice from the Scrum Master about estimating work in Scrum. Which of these is the guideline
that a Scrum Master should give? (Choose the best answer.)

A. Product Backlog items must be estimated in story points.

B. Estimates are made by the people doing the work.

C. Estimates must be in relative units.

D. Scrum forbids estimating.

E. Estimates are made by the Product Owner, but are best checked with the Development Team.

Correct Answer: B

QUESTION 5

Multiple Scrum Teams working on the same product or system all select work from the same Product Backlog.
A. True

B. False

Correct Answer: A

Reference: https://www.scrum.org/forum/scrum-forum/43558/multiple-scrum-teams-must-use-same-sprint-start-date-
same-product
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